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reg_asym_usr (ppb

X2 / ndf
p0
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1D pull distribution

Mean 0.009266 + 0.1483
10~ Std Dev  1.049 + 0.1049
| Underflow 0
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RMS (ppm)
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reg_asym_usl (ppb)
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1D pull distribution
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7.356 + 1.539

-0.02448 +0.29241

1.452 +0.350

- Mean
B ] Std Dev
10+ Underflow
Overflow

o X2 / ndf
8

| Constant

B Mean
6 Sigma
4
2+

[ 111 | 111 | 111 | il

) -4 -2 0 2 4




RMS (ppm)

135

134.5

134

133.5

133

132.5

132

131.5

131

reg_asym_usl RMS (ppm)

rllII|IIII|IIII|IIII|IIII|IIII|III.I|IIII|

%:
%:
‘%,_

L1 ||
4?39é§"ﬁ3"§§9§§9ﬁﬁ?ﬁﬁﬁ?«"§§"€39§§9§§9§39ﬁﬁﬁ?ﬁﬁﬁﬁﬁﬁf?ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁf?ﬁﬁﬁﬁﬁﬁﬁi64

oH T

9



reg_asym_us_dd (ppb) 1D pull distribution

= X2 I ndf 82.79 /49
I Mean 0.0004861 + 0.182
S000 po 292.8 + 130.5 F
— 12~ ] Std Dev 1.287 +0.1287
4000 — F
— o Underflow 0
3000 f— r
10 Overflow 0
2000 i X2 I ndf 8.87/8
1000 B Constant 6.287 +1.355
3 l | ] T
= I RS E I 1 il L Mean  -0.1544 0.2756
o ! l | I 1 L
= | Sigma 1.491 + 0.300
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RMS (ppm)

reg_asym_us_dd RMS (ppm)
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